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Recalling our computations on
Bernoulli process :
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EI: If Loy, of products manufactured at a certain industry
are defective, what is the probability that a

random batch of Io products from this industry hare

a) no defective products ?

b) at least 3 defective products ?

Let X be the random variable that counts the #

of defective products in a
batch of do products .
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Xin Bernoulli ( fo) , i - d. - - - i10

a) PIX-- 07=48) pod - PYO =#
do

# 0.3487=34.877.2,

b) P(Xx3) = I - PIXEL)
=L - PHD - P( X-D - PH-2)

=L - (8) pole- pyo- 49)p4I -DE perf

=L -
"

- dotted - 45,1oz
8

E 0.0702=7.02%7
-a



Comparing Binomial Random Variables with different parameters

X - Binomial (10,12)
dP(X=i)
Pati)

Yn Binomial (Io , fo) 0.387 -- . . .
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EI . A board of directors has 12 members
,

and at

least 8 must
agree

to a business proposal

for it to go forward . All directors act independently
and make the correct decision with probability p .

Suppose a
business proposal has probability a of

being good for the company .

What is the prob .

that the board of directors agrees
to it?

A - prob . of decision z - a = prob . of decision

being good being bed
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